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Mohit.. 2 hours ago 1 subscribers

Thank-you Sir for this Tremendous and Super Amazing Class Session of today's._ &

/@dﬁnswer for today's Homework is-

TURWVQOQPS
L
Thank-you So Much, Sir Ji.. & .
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ANSWER = TURVOPS
THANK U 5IR FOR UR SUPPORT
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Thank you sir for the session
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amniya 2 hours ago 10 subscribers
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home work
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Esh& Ray Chaudhuri 30 minutes ago 2 subscribers

omework answer TURVOPS in between R and T, U came
[If_'Ll' .:_;I] Reply 13

Khyzhboo Mandal 2 hours ago

omework answer:- top to bottom
TURNMOPS

[If_'ll" 'LI._#,U Reply =g
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Todays homework answer

< -

Wwmoc

Thank you =sir wanderful sessions
Show less

oy 0 Reply =

Abhick 2 hours ago 74 sub=cribers
H,/ - TURWOFPS

oy A Reply =

Kajal Singhal 2 howurs ago 2 subhscribers
Horme work ans

TURNMOPS

oy &0 Reply 2

Prakas BMuduly 1 howur ago
Home work answer
Turvgps

EIE' ﬂ;_ﬂ Raply (=




rs

Meelam Kushwaha 4 hours ago 4 subscribers i

An=wer- TURVOPS Zikra Yasmeen 15 hou i
swer TURVOPS

iy S0 Reply &
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Reply =*
sha Ray Chaudhuri 16 hours ago 2 subscribers
Homework answer TURVOPS in between R and T U came
Reply =
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Vandana Chhaffi 11 nours ag ' ( Ki -

¥OU SIR FOR THE SESSION //
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I]i’-' '-L_,U Reply =

akanksha 14 houryfo
Thank u so pichhj sr for this amazing and wonderful session my answer for today’ homewark is ...

Read more




Seven persons from P to V
come 1n a meeting room. V
came just before Q. Only three
persons came between R and S.
S came 1immediately after P. No
one came between P and QQ such
that Q came before P. Only one

person came between R and T.

PV dhY
T U ATd 8
e 3T
ShaldT ]

N
d ATk Ueh d3h
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7l R 3 S & &9
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Seven persons from P to V
come 1n a meeting room. V

came just before Q. Only three

persons came between R and S.

S came immediately after P. No

one came between P and Q such

that Q came before P. Only one

person came between R and T.

TURVERFS
/
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Which of the following is the ninth to the left of the seventh element

from the right end of the above arrangement?

71 ® | ShI9-A7 IUUH SATEAT H T BR | AT qcdl o A1 A 52

0 ov  @s @e 9
14700 AL\ R-n

BRI
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If all the numbers are dropped from the above arrangement then

which of the following is thirteenth from the right end?
T SUTH STTEAT U THT TEATIN <kl geT 2T A1 a1 {4 § I hi9-a1 =™
o dEdT BT

1)V @u Gn @& )ﬁq/ 4
CL
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How many such letters are there in the above arrangement each of which
is immediately preceded by a consonant and immediately followed by a

number?

IUXIR SIEET § U TR o178 & R & Iedreh o i@ Ugel Ush 6w 3R
T 1 Ueh HEAT 22

(1) None 2)One  (3) Two (5) Four
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AL ANANN

What should come next in the following series based on the above
arrangement?

IUNITh SITEYT oh TR W TR SEEAT H SWTEAT Ug &7 §HT AT1R0?

cZ@, @q4, 419, (?) d

(1) 905 2)q91 (3)9%J 495 (5 90k
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g >
PV C
How many such numbers are there in the above arrangement each of

which is immediately preceded by a symbol but not immediately followed

by a consonant?

ST STTEAT | THT feohaT T &, 9 & uedes o 9% 98l Uk
TcTeh 8, TTieh q{d S1Q Ueh ST a1 a2

1)One (2)Two  (3) Three@ (5) Five




How many such pairs of letters are there in the word
‘“TEACHER’, each of which has as many letters between them in

the word (both forward and backward direction) as they have
between them in the English Alphabet?

NEH ‘TEACHER'ﬁﬂW%@WW% 8 9 T & o=
3o 1 (3T 39T ey AT Fewrai ) Sa € 1er § e 57k o

STUSI IUHTAT H 87

TEA(HEQ'
S 338 T

1. One 2. Two 4, Wre than four
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Statement- B=F>K >J > (Q
Conclusion - (I) Q=B X~

IDF>Q

(1) If only conclusion I is true.

(2) If only conclusion II is true.
(3) If either conclusion I or Il is true.
(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.
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Statement- H< K >N <M =C
Conclusion- () C>N

D) H>M ><

(1) If only conclusion I is true.

(2) If only conclusion II is true.
(3) If either conclusion I or 11 is true.
(4) If neither conclusion I nor Il is true.

(5) If both conclusion I and II are true.



(&

— S —
Statement-P > Q>S<T>L
Conclusion - (I) P> LL x

ADT>P X

(1) If only conclusion I is true.

(2) If only conclusion II is true.
(3) If either conclusion I or 11 is true.
(4) If neither conclusion I nor Il is true. /

(5) If both conclusion I and II are true.
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Statement-Z. = W > X < Y < K
Conclusion- (1) Z>X

) K>X /

(1) If only conclusion I is true.

(2) If only conclusion II is true.
(3) If either conclusion I or 11 is true.
(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.
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Statement- F < S<B=Y > Z
Conclusion- () Y>F
) Y=F )<

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or 11 is true.
(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.




In a Certain code SISTER is written as 40 ,than find the code for

—
Vowf/Q i P

ET AT af BROTHER T H1S

BROTHER ? B
U HTd RIS W SISTER HT S 40 T
FIT EITT 2

(2) 40 / /

3) 50 N v

(4) 49 13

<R
(5) None of these %
!




In a Certain code MOON is written as 21 ,than find the code for
SCHOOL?
Ueh 2| g ¥ MOON &1 &hig 2] Ta@m T 8 @t SCHOOL &1 &hig &1

NI 2
i
\,///// MO O > C ArOo L
(1) 1673 Y ly

13 1S IS

1T 3\BYP s 12
(2) 2000 NN BN \,
(3) 1992 < | < > 3
(4) 1855 _

(5) None of these /



In a Certain code VOTE is written as 4048 ,than find the code for FOX ?
T Afga R | VOTEEh‘r?*ﬁ's' 4048 %@Tw%a‘rFOX?ﬂaﬁgw

Zer >

(1) 196

(2) 882

\L3T364 G <j X O - LK
(4) 181

(5) None of these
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‘ECONOMICS IS NOT MONEY’ is called ‘15A) 14V, 23U, 19U°

‘CAN BANKING FOR WORD?’ is called ‘5F, 22T, 25P, 261’
‘MAKE CLEAR NOT CENTRE’ is called ‘15G, 25T, 25G, 14V’
‘OK FEW TARGETS IN’ is called ‘19P, 8U, 13M, 22Y’

| /CZJ;QO Pe cosling (Z 7
What is the code of money?/Money Ww N

()
P

02.14V
03.23U
04.19U




Statements:

h -
Only Rama is a clerk. WW@W%I
100% honest are Rama. IH 200% éﬁ'l'—lﬂ'l'{%l

Conclusions: TRy
I. All Rama are honest. Tt TH SHFER 2
I1. All clerks being honestis a Tt a—ﬁﬁ; 5 g'l:rr.-m'r{ ‘gﬁﬁ‘ AR ICE

possibility. %I



Statements:

Only Rama is a clerk.

—

100% honest are Rama.

Conclusions:

I. All Rama are honest. X

I1. All clerks being honest is a /{
possibility.

@R

)



Statements :

A few figures are images.

0% snaps are images.

Conclusions :
I. Some figures are not

snaps.

I1. All images being snaps
is a possibility.

hdq:
AT S i
0% T AT 2

freny:
CEACIIES b F
vt IS & T g <Al
TS 2|



Statements :
A few figures are images. @? -
0% snaps are images.

T
QM“/NG‘Y/W*"ﬁ‘?//ﬂ f‘p(/b

Conclusions :

I. Some figures are not snaps. /

I1. All images being snaps is a >(
possibility.



Statements :

Only fantastic are fans.

No fans are fabulous.

Conclusions :

I. No fantastic being

fabulous is a possibility.

I1. Some fabulous are
fantastic.

WWW%I
Hg TIHH IR

I. Mw%wﬁﬁaﬁ
THTSHAT T2 2

[I. %S IHER AHER B



Conclusions :

Statements :
Only fantastic are fans. - B i
C
No fans are fabulous. C/
—

I. No fantastic being fabulous is a / 4
possibility. g e
II. Some fabulous are fantastic. X




Statements :

All toys are tasks.

No task is a tree.

Conclusions :

I. No tree is a task.

I1. A few tasks are toys.

Tt 2T T B

HIS TTEH 2t TE 2

Ry
*IS &1 TTEh 78T 2
HS T Raati gl



Statements :

All toys are tasks.

No task is a tree.

Conclusions :
I. No tree is a task. /

I1. A few tasks are toys. \/

o

)(



Statements :

A few wheels are warm.

Only wheels are wools.

Conclusions :

I. Some wheels are wools.

I1. All wools are warm.

<h -
B UIET T 2.
I TfeT ST B

%D EIA I 8
T+t g1 I



Statements :

A few wheels are warm.

Only wheels are wools.

Conclusions : /

I. Some wheels are wools.

I1. All wools are warm. >/




Hira, Karan, Shakil, Shreya, Rita, and Gita are part of a family. Hira is brother
of Karan and fat il and Shreya. Rita and Gita are grandparents of

Karan.
EIT, T, IITTehet, ST, AT 31X AT URAR o T2F &) RT i & TS U ITfehed
3R 9T o Toar 31 AT o et & & 21eT 2ret 2

How is Shakil related to Karan?/ ITieheT i ¥ hll U 82
(A) Grandson (B) Grandmother
(C) Daughter-in-law \/(’]{) Nephew or Niece




| Read the directions carefully and answer the question:
A + B means A is 6 km south of B. /A, B o Sf&10T H 6 ferHT uR 31
A * B means A is 8 km west of B. /A, B % aiy® ¥ § ferHT o 2

A @ B means A is 4 km north of B. / A, B o 3T H 4 TerHT WX B W
A ! B means A is 10 km east of B. / A, Bﬁ?qcﬁ"ﬁ‘ 10 fert TR 31

According to given expression what is the direction of P with respect to T? @ +

3 113 Srfeaith & FATER P, T o Haer | fohe faom w32

(Q@R'S+3 z—b&\
I

01.East/ ‘Jﬁ 1o
\//ﬂ’%uth-East/af\ W—qﬁ 4 u
03.North-West/ST-Utara R
04.South-West/gTeToT-utsm
05.South/gfeTor




®
Eleven friends 1, 2, 3,4,5, 6,7, 8,9, 10 and 11 are sitting in a row and everyone is facing

towards North but not necessarily in the same order.

8 and 9 are sitting at extreme ends. 6 is second to the left of 8. 11 is exactly in the middle of the
row. 7 is fourth to the left of 11. 3 and 5 are not the neighbor of 6@ is in between of 3 and 5./1
is not the neighbor of 6 and 8.

e U 1,2,3,4,5,6,7, 8,9, 10 31X 11 T Ufth § ¥ 3 31K T hI3 I hi 37 3 @I 8 AT
T T foR SHT R A g

8 3R 9 THT & BR U AS 21 6, 8 % 9T TAW 31 11 Uftw W Srew = W71 7, 11 3 91 =it 81 3 qom
5, 6 < USTHET T8 21 2, 3RS HATTE 1, 6 3R 8 THT TS IHT T2 2

Who is immediate to the left of 2?
2 o A ST i 82
)s @3

(3) Either 5 or 3 @) 11(5) 1
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Eleven friends 1, 2, 3,4,5,6, 7, 8,9, 10 and 11 are sitting in a row and everyone is
facing towards North but not necessarily in the same order.

8 and 9 are sitting at extreme ends. 6 is second to the left of 8. 11 is exactly in the
middle of the row. 7 is fourth to the left of 11. 3 and S are not the neighbor of 6. 2 is
in between of 3 and S. 1 is not the neighbor of 6 and 8.
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Eight people are sitting in two parallel rows containing four people in each row, in such a
way that there is an equal distance between adjacent persons. In row-1 A, B, C and D are
seated (but not necessarily in the same order) and all of them are facing North. In row-2
E, F, G and H are seated (but not necessarily in the same order) and all of them are
facing South. Therefore, in the given seating arrangement each member seated in a row
faces another member of the other row. D faces the person who sits 2nd to the left of E. G
doesn't face A who is an immediate neighbour of D. There is one person sits between G
and H. B sits to the immediate right of the person who faces E.

TS AT<h & GHHTAE Uikl H Tcdeh Ufth | = AN shl 36 YR &I B foh 38— ekl o s«
HHM gl 81 Ufkh-1 1 A, B, C IR D &3 & (ifeh Sl &1 foh 5801 550 4 81) 31T S Wil =1 7@ 3T
$I 3T I URh-2 T E, F, G 3T H o3 T (AfehT ST&) «ls“l‘féhsﬁ;huﬁs\i)aﬁtetr‘éﬁﬁwwﬁw
ol 3 3] 3ETCAY, & TS S shl HewT H Teh Ufth W oI Teoh T hl H@ WW%WW
H3E T SR & D 1 HE 36 Afh shl SR 2 S E o o1 8 THL T e 3 G T q@ A i 3R
el ®, ST D AT fHeheaH t@lﬁﬁ%l G 37T H & &9 T =IRF Fo1 21 B 39 oqlrh%l?aoh‘q’rﬁéa'r%

fSTeehT 7@ E 31 3 2
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Eight people are sitting in two parallel rows containing four people in each row, in such a
way that there is an equal distance between adjacent persons. In row-1 A, B, C and D are
seated (but not necessarily in the same order) and all of them are facing North. In row-2
E, F, G and H are seated (but not necessarily in the same order) and all of them are
facing South. Therefore, in the given seating arrangement each member seated in a row
faces another member of the other row@ faces the person who sits 2nd to the left of E. G
doesn't face A who is an immediate neighbour of D. There is one person sits between G
and H. B sits to the immediate right of the person who faces E.)

E G F G T HF

| - TFGH AN 1




A,B,C, D, E, F, G and H are sitting around a circular A, B,C,D, E, F, G 3R H T ITTehX &7 o I 3T

area at equal distance from each other, but not Uch EC\FB{ qgaH chf WS %, AT ST el foh Bl

necessarily in the same order. Four are facing the centre 3-H H &l 379 9 4 Wﬂ'@%ﬁ 3 & STelfeh 4 o1 g
while four face outside (i.e., in a direction opposite to  STET hl 3T 3 (3494i6| hg o faradia fasm ﬁ)l A CH

the centre). A sits ninth to the left of C. Only one ¥ O i TIH W ST 21 A 3R H o o< shal Tah
person sits between A and H. B is facing outside. E sits =af<h 9312l B wg@amaﬁ AT E,HH I I
eleventh to the right of H. E is not an immediate TEd T W 3T 2l E, A 1 Hehedd USiE Tai 2l G,

neighbour of A. G sits second to left of F. Fisnotan F ésaﬁﬁaﬁqutéa%l F, E &1 fFehean uei
immediate neighbour of E. G is neither immediate T 81 G Tl A &1 IR A G C 1 FFeheaw g 81 D,
neighbour of A nor C. Immediate neighbours of D, G~ G 3R C %ﬁwq@u‘r%g@%ﬁﬁ%mﬁ T 3R
as well as C face opposite directions (1.e. if one ? (33[94% ﬂﬁ@@lﬁ%g‘@%ﬁ AR %?ﬁ‘@:{?ﬂ
neighbour faces the centre than the other faces outside ﬂ'@[ﬂ'[%?ﬁ 3R 8 3R b faudia)l A STHY F ED
and vice-versa). A faces the same direction as F (i.e. if THTT famm it 1R B (AuTq fc F ! g hl X B
F faces the centre than A also faces the centre and vice- al A ol e hs i AR B 3R gﬂ%%ﬁﬁ)l G 3R E
versa). G and E facing the same direction. C is not an  GH {31 shl 3T ?FEID'@T%I C, H = fhean vt T2
immediate neighbour of H. A sits 2" to the leftof H. ®. A, H é:aﬁﬁaﬁ{wqtéa%




\
A, B,C, D, E, F, G and H are sitting around a circular @

area at equal distance from each other, but not C

necessarily in the same order. Four are facing the centre

while Four face outside (i.e., in a direction opposite to /

P N~
the centre). A sits ninth to the left nly one A / e &
person sits between ‘A and {. B is facing outside)E sits C
rate

eleventh to the right of H. E is notam

neighbour of A. G sits second to left of F. F is not an

immediate neighbour of E. G is neither immediate

neighbour of A nor C. Immediate neighbours of D, G

as well as C face opposite directions (i.e. if one
neighbour faces the centre than the other faces outside
and vice-versa). A faces the same direction as F (1.e. if

F faces the centre than A also faces the centre and vice-

versa). G and E facing the same direction. C 1s not an

e R
A 2" to the left of H .

immediate neighbour of H. A sits

T~
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A certain number of persons are sitting in a row facing to the north. M sits 4th to
the right G. There is one person sits between D and G. Three persons sit between
M and P. The number of persons sit between D and M is same as the number of
persons sit to the right of P. Only one person sits between A and G. Q sits 3rd to
the left of T and sits to the right of A. Six persons sit between A and Q. Both T and
K are immediate neighbours of each other. S sits 3rd to the left of K. The number
of persons sit to the right of K is same as the number of persons sit to the left of D.

e T2 € 9 itk 3T hl AR T@ ik T Ufth § 8d &l M, G o 311 8 <19 T W
3T 2l D 3T G o Si= Uk sk 93T 81 M 3R P o (i o9 3tk 8 21 D 3T M & s
SIS T SATRAT shl TEAT 31 & © ST+ foh P o7 215 3T S8 ARl shl GAT| shaldd A 3R
G o < Ueh 3Tk S3dT 21 Q, T o oITE H o 1HY T W d3dT 8§ 31T A o &5 AR d3aT 8l A
3T Q o sfT=l BE Afth sIad €| T AN K ST Tk UL o {Hehead TS 21 S, K o o & e

~

LI T S3T 2] K b et 37 d93 el il 9 dr 3+t 21 & [’Sa+t 6 D & 9 9 safeai

- D
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A certain number of persons are sitting in a row facing to the north. M sits 4th to
the right G. There is one person sits between D and G. Three persons sit between
M and P. The number of persons sit between D and M is same as the number of
persons sit to the right of P. Only one person sits between A and G. Q sits 3rd to
the left of T and sits to the right of A. Six persons sit between A and Q. Both T and
K are immediate neighbours of each other. S sits 3rd to the left of K. The number
of persons sit to the right of K is same as the number of persons sit to the left of D.
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